1. Explain how to derive the Distance Formula using APQR.
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Write each coordinate proof. y
2. Given: ZBisaright angle in AABC. M is the midpoint of AC. €0, 29 M Cg)g)
Prove: M is equidistant from all three vertices of AABC.
B(0,0)y A(2a,0)
Use the co$§1nates t}gi have been a551gned in the figure.
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3. Given: AABCis isosceles. X is the midpoint of AB, Y is the midpoint y
of AC, Z is the midpoint of BC. A{2a, 2b)
Prove: AXYZis isosceles.
Use the coordinates that have been assigned in the figure. X Y ( 22, é)
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4, Given: ZR is aright angle in APQR. A is the midpoint of PR. B is the

midpoint of QR. ,
15 ; 50, bh—0
Prove: AB is parallel to PQ. . | 0 e 2 TH -
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5. Given: AABC is isosceles. M is the midpoint of AB. N is the midpoint of AC. AB = AC T T
Prove: MC = NB _[08m AN L/ o 2a | Shee HCEWB
- ( == ) == | = J 7
) Ha) N : [ 77
1 A&y ) | MC ENO /

)
N i?/f; Prove the Triangle Midsegment Theorem using the figure shown here. y A2q 20
7 Given: DE is a midsegment of AABC. 5 c
Prove: DE|| BC and DE = %BC X

vB(0,00 C(2p,0)

7. Critigue Reasoning A student provgs’t"héa Concurrf/nqx of Medians Theorerby
first ass\igning cobrdinatds to the vertices of APQR a5 P(0,'0), Q( f{: 0, an@;ﬁ(Zéz, 2c).
The smdenp/ says éhat is choiée of ﬁloordinafges (mﬁi(es the algebra in the proof a bit
easier. Ijg/f?ou agree with the studént’s choice of Coordinates? Explain.
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